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int t=1;
for (i=1; i<=n; i++) x[i]=-1;
while (t>0){
if (tn) {Fix; t--; continue; }//4& 2| f#
X[t]++;
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else{
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void Backtrack(int t){
if (t>n) {
if CURTAEXPICA>bestp){ B Fibestp; % Hix;}
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else

for(1i=0; i<=1; 1++){
x[t]=1; /A EX[t] )5
if (T LY M1 E E=<C && bound(t+1)>bestp)
Backtrack(t+1);
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void Backtrack(int t){
if (ton) frtix; /AR HF A
else
for(1=t; 1<=n; 1++) {// X TEHE Nt R, BUERZ DA
Swap(x[t], x[1]);/x[i] N HEUE
if (A KN 82 sIUE)
Backtrack(t+1) ; /A7, Fgt, BN —1
Swap(x[t], x[i]); /A H#e[F1 =R, 1HE & Bt




i Sen £
h 17 55 6] &2
EREE
//y[EFx[tIEFE T t2n FIES T 2R WA Iy [t]=t
void IterativeBacktrack( ){
int t=1;
while(t>0) {
if(t>n) {frix; t--; continue; /4% 3| ¥
y[t]++;  JEFET —X[t]=t R, i E

if(y[t]>n) {t--; continue; } //x[t]=n, HIHHUEARESE |

swap(x[t], x[y[t]]);
if(OA R K E /DT 2B 3 HE) |
t++;
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|
elsef
swap(x[t], x[y[t]]);  t--; /E&EST, ASH, A1
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void Backtrack(int t){
if (t>n) faHix;
else
for(1=0; 1<=1; 1++){
x[t]=1;
if (Constraint(t) && Bound(t))
/AN Z 0B ER o R 4T H AR AR S DU
Backtrack(t+1);
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#MERT: x[n]= (1,2,3, =, n)
void Backtrack(int t){
if (t>n) % Hix;
else
for(1=t; 1<=n; 1++){
Swap(x[t], x[1]);
if (Constraint(t) && Bound(t))
/AN Z B ER o Rl AT H AR AR s DU
Backtrack(t+1) ;
Swap(x[t], x[1]);

;
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void Backtrack(int t){
if (t>n) % tix;
else
for(1=0; 1<=1; 1i++){
x[t]=1;
if (Constraint(t) && Bound(t))
/AN ZHT RS a4 H AT RE AR s A A
Backtrack(t+1);
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#IgEt: x[n]= (1,2,3,...,n)
void Backtrack(int t){
if (t>n) % Hix;
else
for(i=t; 1<=n; 1++){
Swap(x[t], x[1]);
if (Bound(t))
/AN R Z T B ER o e 4T H TR AR s DU
Backtrack(t+1) ;
Swap(x[t], x[1]);
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void Backtrack(int t){
if (t>n) % Hix;
else
for(1=t; 1<=n; 1++){
Swap(x[t], x[1]);
if ( Constraint(t) )
Backtrack(t+1) ;

Swap(x[t], x[i]);
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Constraint(t){
for (i=1; i<t; i++)
if([1 — t| == [x[i] — x[t]| ) return false;
h

return true;
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void Backtrack(int t){
if (t>n) % Hix;
else
for(i=1; 1i<=m; 1++){
x[t]=1;
if (Constraint(t))
Backtrack(t+1);
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Constraint(t){
for (i=1; i<t; i++){
if(F 1223, t) Hx[i]==x[t]) return false;
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return true;
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